
9.2 STEPBOARDS 

“Unmatched in quality, range and value”

Kingsley Enterprises Pty. Ltd. 
Phone: 1800 654 767  

sales@kingsleyenterprises.com.au  
www.bushranger.com.au 

9.2 STEPBOARDS
PRODUCT INFORMATION

AUGUST 2006

  
Part Numbers Vehicle Specific product please check Bushranger Catalogue for Part Numbers 

Materials Bright anodised aluminium step extrusion with non-slip grit tread tape 
Heavy zinc plated fitting brackets 

Dimensions Vehicle Specific 
Capacity Not applicable 
Weight From 10 to 16 kg 

Warranty 5 Year No-Fuss Warranty 

All vehicle specific part numbers – parts available for most popular 4WDs, past and current.  

Check Price List for configuration of the board end fittings for each set.  These indicate the type of 
moulded plastic ends or aluminium mudflaps supplied in the kit. 

Read instructions carefully and check kit prior to fitting 

SPECIFICATIONS 

VEHICLE APPLICATIONS 

PRODUCT TIPS 

SAFETY PRECAUTIONS 

…Continued over page



9.2 STEPBOARDS 

“Unmatched in quality, range and value”

Kingsley Enterprises Pty. Ltd. 
Phone: 1800 654 767  

sales@kingsleyenterprises.com.au  
www.bushranger.com.au 

9.2 STEPBOARDS
PRODUCT INFORMATION

AUGUST 2006

    

Full length extrusion  Protects the vehicle’s lower body against 
bitumen, mud and stone chip damage 

Bright anodised finish Will not tarnish 
Non-slip grit tread tape Ensures all weather sure-footed safety 
Fitting brackets are heavy zinc plated Protects against rust 
All late model vehicles have dedicated fitting 
brackets and are fully welded and individually 
designed to suit each vehicle application  

Easy installation 

Stepboards are always body mounted, not 
chassis mounted 

Becomes an integral part of body to offset flex 
between body and chassis, also gives maximum 
ground clearance 

Check kit supplied is for vehicle being fitted and that kit is complete as listed.
Read the instructions to be sure you understand all aspects of fitting the vehicle before 

proceeding.

1. Assemble the two Stepboards by fixing the moulded plastic end caps to one end of each board 
with M8 x 14mm bolts and flange nuts.  Slide into each channel on the underside of boards 
three M8 hex nuts (6 per board).  Fit to the remaining end of the board the other plastic end 
cap supplied in the kit. 

2. Starting on either side of the vehicle, proceed as follows:  Move to the underside of the vehicle 
and attach the three Stepboard brackets – front, centre and rear on each side 

Front Bracket – fit to the captive stud and secure with M8 flange nut and M8 x 20mm bolt and 
lock washer into the captive nut (refer diagram 1) 

Centre and Rear Brackets – fit and secure with the M8 x 20mm bolts and flange nuts into 
existing holds in the body braces (refer diagram 2)

NB: The brackets are identified with stamped part numbers (see kit contents details) 

3. Lift the assembled Stepboards onto the fitted brackets, position and attach with M8 x 14mm 
bolts, lock washers and flat washers, picking up nuts in the channels on the underside of the 
steps 

Your Stepboards are now ready for use 

FEATURES             BENEFITS 



Diagram 1: Diagram 2: Diagram 3: 

FRONT BRACKET 
CENTRE AND REAR 

BRACKET 
SIDE STEP TO 

BRACKET ATTACHMENT 


